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MASTER OF ARTS (ECONOMICS)
Term-End Examination

December, 2022

MEC-105 : INDIAN ECONOMIC POLICY

Time : 3 hours Maximum Marks : 100

Note: Attempt questions from each section as per
instructions given.

SECTION A

Attempt any two of the following questions in about
700 words each. 2x20=40

1. Evaluate the trends in India’s economic growth
rate in post-reform period and discuss its impact
on poverty alleviation.

2. Discuss how tax and expenditure management
reforms have played a vital role in reducing
India’s fiscal deficit in recent years.

3. India has high inequality when it is measured
using non-income criteria. What are the reasons
responsible for it ?

4. Discuss the trend in investment in Research and
Development (R & D) in India. Assess its impact
on India’s economic development.
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SECTION B

Attempt any five of the following questions in about
300 words each. 5x12=60

5.

10.

11.

12.

How has livestock contributed to India’s
agricultural growth in the last few years ?

Can balanced regional industrial development be
achieved with a focus on fast growth rate ? State
reasons in support of your answer.

Is increase in casualisation of employment
interlinked with quality of employment ? How ?
What is the current status of casual workers in
India ?

In the light of India’s Monetary Policy framework,
critically evaluate the outcome of ‘Monetary’
targeting v/s ‘Interest-rate’ targeting.

How has the development pattern and structural
change in Indian economy been different from
East Asian economies ?

What do you understand by the term ‘Window of
Demographic Opportunity’ ? Evaluate the role of

the Government in reaping India’s demographic
dividend.

Analyse how the overall poor infrastructure is
linked with regional disparity in India.

Discuss the linkage of International trade
with (a) Labour Standards, and
(b) Environmental Standards.
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1. FUURR He § 9 6 i dafg @ f vghm
T YoATh HIVT | T & 39 §1d W == HIe foh
3 YR Wl TS 39 T F1 I919 9T |

2. 39 fovg W == Hife & g gor = qa ==
Yergd GURT 3 gIel & 9§t § qRd o foxfia =1e
T H T HAT 37H, YHHT 35T H 2 |

3. 3T "I gRT WY WX FTA BT B foh wRd |
3= IUEAT ¢+l et 3 | 39 fow saa
PR IR § 2

4. 9Rd H WMy v foeE W fopg u fafwmm i et
T ==] T | 9 o 3Tffer forem W 38 gl
ST YeATeh SHIfT |
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5. Ta fUsd aul # 9WRd 6 HY dgfg § gy | fra
TR e T 2 2

6. T Ay TIfg @ W SR ¢ § Hgfora &ffy sfenfies
forerTa 1 9T foRaT ST HehdT 8 2 3794 Ik UM H
I ST |

7. T USR H AhEHRE TSR ToEr &
U 8 ? WRA § 3Teh{Eeh el ol IduH
feafa e g 2

8. WNd I Wi Aifd & e ¥ Wfgw aed’ 7w =
TU AT h ROTHI T STTATHTICHS oo HIfT |

9. YA 3rdcyawer k1 fIh™ UEY e HI=HIHS
gfad gt TR gu i teferaweneti @ foRd TR
[EERE K

10. SHIfRehid 398X I fgegdhl’ ¥ 39 = 99z
2 2 UG o SHEICIhE A9 38H H TThR
fHeRT ST HEATRA HINT |

11. facivor T foh fFH TohR THT SHSIR STTERYT
efen vra o &f fomansti @ Jer ? |

12. AT MR 6 Y (F) %W HERI,
(@) vafawuT Al o TEEi W ==l I |
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